MMutaumna aBMXKeHus

CocTtaBuTb nNporpamMmmy, KotTopasd UMUTUPYET OBUXEHUE
aBToMooOung



uses GraphABC;
var
X, Y, W, h:integer;
p, pl:picture;
Begin
SetWindowsSize(600,300);
p:=new Picture('gorod.jpg');
pl:=new Picture('avto.jpg');
x:=0; y:=150; w:=240; h:=100;
while x<400 do
Begin
clearwindow;
p.Draw(0,0);
pl.Draw(x,y,w,h);
X:=x+10;
sleep(20);
redraw;
end;
end.
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uses GraphABC; Mpo3spayHbiyn ¢hoH

var
X, Y, W, h:integer;
p, pl:picture;

Begin
SetWindowsSize(600,300);
p:=new Picture('gorod.jpg');
pl:=new Picture('avto.jpg');
pl.Transparent:=true;
x:=0; y:=150; w:=240; h:=100;

while x<400 do
Begin
clearwindow;
p.Draw(0,0);
pl.Draw(x,y,w,h);
X:=x+10;
sleep(20);
redraw;
end;

end.




uses GraphABC;
var

Unno3va aBnKeHus B
Aanb

X, Y, W, h :integer;
p, pl:picture;

Begin
SetWindowsSize(600,300);
p:=new Picture('gorod.jpg');
pl:=new Picture('avto.jpg');
pl.Transparent:=true;
x:=0; y:=150; w:=240; h:=100;

while x<400 do
Begin

clearwindow;
p.Draw(0,0);
pl.Draw(x,y,w,h);
X:=x+10;
W:=W-2;
h:=h-2;
sleep(20);
redraw;
end;
end.



uses GraphABC; HeT uckaxxeHus
var pa3mepoB
X, Y, W, h:integer;
p, pl:picture;

Begin
SetWindowSize(600,300);
p:=new Picture('gorod.jpg');
pl:=new Picture('avto.jpg');
pl.Transparent:=true;
x:=0; y:=150; w:=240; h:=100;

while x<400 do
Begin
clearwindow;
p.Draw(0,0);
pl.Draw(x,y,w,h);
X:=x+10;
W:=W-2;

h:=h-1;

sleep(20);

redraw;
end;

end.




BpalueHune nyHbl BOKpYr 3eMnu no Kpyrosom opouTe. x=R*cos(t), y=R*sin(t), 0 <t <
1T

uses GraphABC;

var x,y,x0,y0,R,u:integer;
nebo,zem,luna:picture;
begin
SetWindowsSize(600,400); Het

x0:=300; y0:=200; R:=160; MepuaHusA
LockDrawing;

nebo:=new Picture('sky.jpg');
zem:=new Picture('earth.jpg');
luna:=new Picture('luna.jpg');
for u:=1to 360 do
begin
nebo.Draw(0,0,600,400);
zem.Draw(200,120,200,200);
x:=Round(x0+R*cos(pi*u/180));
y:=Round(y0-R*sin(pi*u/180));
luna.Draw(x,y,50,50);
sleep(10);
Redraw;
end;
end.



BbeckoHe4YHOe NnoBTOpeHuUe
uses GraphABC;

var x,y,x0,y0,R,u:integer;
nebo,zem,luna:picture;
begin
SetWindowsSize(600,400);
x0:=300; y0:=200; R:=160;
LockDrawing;

nebo:=new Picture('sky.jpg');

while true do
for u:=1to 360 do
begin
nebo.Draw(0,0,600,400);
zem.Draw(200,120,200,200);
x:=Round(x0+R*cos(pi*u/180));
y:=Round(y0-R*sin(pi*u/180));
luna.Draw(x,y,50,50);
sleep(10);
Redraw;
end;
end.



